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fr(x)
- Jall
> restart:
f:= x-> x*3+x"2+x+1;
x[0]:=0.5;
N:=6;
for k from 0 to N do
x[k+1l] :=evalf (x[k]-eval (£(x),x=x[k]) /eval (diff (£ (x) ,x) ,x=x[k]));
od;
feEx—=r 47 +x+1
x, =05
N=6

x; = -0.1818181818

Xy = -1.330949949

Xy = -1.079825196

X, = -1.005884932

Xg 1= -1.000034429

xg = - 1.000000001

x5 := - 1.000000000 1)

bl (B )83 (Al Sl el any 5
fX)=x3+x2+x +1 A e paillandiid fi= X -> XA3+HX/24X+1; -)

Aiia a8 ) () ) S A e il Jysadl Syl evalf( ) -¥

f(a) @b aa¥ a @x S Ju pasm J= eval (f(x), x=a) -
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> restart:

fi= x=-> x*3+x"2+x+1;
x[0]:=0.5;
N:=6;
e:=1;
for k from 0 while e > 107 (-6) do
x[k+1] i=evalf (x[k]-eval (f (x) ,x=x[k]) /eval (diff (f(x) ,x) ,x=x[k])) ;
e:=abs (x[k+1]-x[k]) ;
od;
fi=x x4 x+ 1
x, =05
N=06
e=1
x, = -0.1818181818
e =0.6818181818
Xy = -1.330949949
e:=1.149131767
Xy = -1.079825196
e:=0.251124753
Xy = -1.005884932
e:=0.073940264
X5 = -1.000034429
e :=0.005850503
X = -1.000000001
e :=0.000034428
x-:= -1.000000000

e=1.10" 1)

bl (@ 83 AN G el (any - 58
fX)=x3+x2+x +1 A e paillandiid fi= X -> XA3+X/24x+1; -)

Aiia a8 ) () ) S A e il Jysadl Syl evalf( ) -¥
f(a) @b da¥ a @ X dSdu gasm Jl= eval (f(x), x=a) -V

Lol (348a% die (@ gill mali jll JLa while aladiul &5 JUal) s 8- ¢
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:Jall

> restart:
S:=0;
N:=0;
for k from 0 while S <= 1000 do
S:=8+(k"2-k) ;
N:=N+1;
od;
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